RIEMEBEO_MGI, AO=1{)

AIl'TAL

5A% 7l

EfmE

1. BRIVSE, BEWE, RIEES
—UBRHBENE=EPEIEIHEE;
3. ¥R_UBREEGIRIEE;

7

oA v

] 5A110-M5/5A120-M5[5A130[1-M5/5A110-06/5A120-06/5A130(1-06
BBEOL b ER=BR=HR=M5 HER=HR=HR=PT1/8
|BREHE 5.5mm’ 5.0mm’ 12.0mm”* 9.0mm”*
Cvig 0.31 0.28 0.67 0.50
FE (9) 85 140 165 85 [ 140 165
BISE 5A210-06| 5A220-06 | 5A230[]-06|5A210-08 5A220-08|5A230[1-08
BEOK E ER=HR=H5=PT1/8 ER=HR=PT1/4 HR=PT1/8
aBREHE 14.0mm”’ 12.0mm’ 16.0mm’ 12.0mm’
cvig 0.78 0.67 0.89 0.67
EE (g 185 285 365 185 285 365
BISE 5A310-08| 5A320-08 | 5A330[]-08/5A310-10 5A320-10|5A330[1-10
BEOE F ER=HR=HR=PT1/4 ER=HR=PT3/8 PR=PT1/4
BB HE 30.0mm’ 18.0mm’ 36.0mm’ 21.56mm’
CviE 1.68 1.00 2.00 1.20
58 (9 275 | 365 505 275 | 365 505
TalEEEEDE2 5R/F) D) 5R/F) 3R/
BEE 5A410-15] 5A420-15| 5A430(]-15

BBEOL ER=HR=JR=PT1/2

BHEBE 50.0mm’ 30.0mm?

Cvig 2.79 1.68

58 (9 555 | 685 735

ReEERART2 3R/ 3R

E 101 0= 10— | AD=MI
TENE ZER(GE40 p ML iR 8E18)

EBST NPRIEN

ERRNEE 0.15~0.8MPa(21~114psi)

R MmE 7] 1.2MPa(175psi)

TERE -20~70°C

e [k

R hEs rHE

DE1] EEIFWEPTHOHZRE,

4. RILRBIFHIENL, EZERD), BBHRRE, BRSZHR; (12] B EE SO B
5. EENEE; B3] WEIDEE, DEFAIEL, BHEBMNAISO Ve32HERAM.
6. TJREMREREE, BHEALETH;
R ET B 15
5A 2 10 08 []
\1 \2 é) \4 5/
DORBRKE PER T3 QRIEAR HEEOE 5 B{HE
1. 100551 M5: M5 EsilidaviiS
: " 10. EABERE 06: 1/8'
e 20. €M BERE 06: 1/8"
oA DO 2: 20083 30C: SIBYFADIED | 08, 114 o p1s
- <z 30E. =IBEREDMIHRT 0. 1/4" -
3: 3007k 30P, —IBEREDIEN | 10. 38"
4. 40045 15 1/2"

104




RIEMEBEO_MGI, AO=1{) AIl'TAC

5A% 7l

PIEB &S mERYE
5A110 ASE: 5A110-M5 ASE: 5A110-06
® @ 0.7 ~——— 0.7 ——
— TT—
% 9 993 o Y onnmnn
| © . —— ~ @© Y- ==
; € 0.dfeted T S 0.4f— T T
Ot 0.3t (o] M——
; S 02— NN £ 02 A
@ 0. i)
LIRS EE I R WAL A I AV B AN
(b @ @ @ @ = 0 100 200 300 400 500 600 0 200 400 600 800 1000
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ME (L/min) ME  (L/min)
SA120 CP @ 0.7 HUS%. 5A210-06 07 HUS%. 5A210-08
* =) R o g oo~
= < 0-4 T I~ = 04 e \
I- — . \\\ 'Q T —
i 0.3 \ 0. S \
SRS i 2 0.2 2 0.2
i % 0.1 ) \ % 0.1 Vo
® ©® A I NV N N Y VT
0 300 600 900 1200 1500 0 400 800 1200 1600
mE  (L/min) AE  (L/min)
07 AUSE. 5A310-08 0.7 Sk, 5A310-10
A I~ S S
© 05 Ty © 0.5 i N
[ e S g a e
EOA [~ EOA —~—
: o B 0.3 R \ 0.3 o] \
[ £ 0.2 I £ 0.2
g 0.1 < g 0.1
1 a5 =T IR R R I N A L1
0 400 800 120016002000 2400 0 500 1000 1500 2000 2500 3000
£33 Ex £33 2B 533 25 ME  (L/min) RE  (L/min)
1 BREE] 7 05 13 | BRiRE]
2| o= 8 | | 14| EnE 0.7 B 5A410-15 (3] 5A300BIRZRTAE
3 EE 9 M= 15 | CFRRE B E 0'6 — [L4A300RBIERISRE K
4 0% 10 BE 16 1R8] : —
5] 05 |11 SBAE | 17| BRE 05— T
6 A 12 05 18 EES = —
0.3 \\ \
2o \
0. \
0.
ol ™ N YV Y

0 500 100015002000250030003500 4000
ME  (L/min)

V4 105



RIEMEBEO_MGI, AO=1{) AIl'TAC

5A% 7l

51 BB IR #E
5A[1100] BRE® | A [ B[ C P [pPA[PB[PC|[PD|] «a
5A110M5 | 71 | 27 | 18 |[M5X0.8 32 | 14 | 25 | 0 |M5X0.8
PT1/8 5A11006 | 71 | 27 | 18 | PT1/8 | 32 | 16 | 24 | 3 | PT1/8
5A21006 | 81 | 35 | 22 | PT1/8 [ 36| 18| 27 | 0 [ PT1/8
H ] T j T ‘ ] 5A21008 | 81 35 | 22 | PT1/4 | 36 | 21 | 26,6 3 PT1/8
= |2-Q ‘4:’ T |, on 5A31008 | 102 | 40 | 27 | PT1/4 |46.5| 22 | 3565| O | PT1/4
| \ 2-0S } S 5A31010 | 102 | 40 | 27 | PT3/8 [46.5] 24 [ 345 4 | PT1/4
oy 13-P Il M/ ﬁb(f 5A41015 |132.5| 50 | 34 | PT1/2 |61.5| 36 | 43.5| 4 | PT1/2
< QA/ o | N o o4 <« %; @ BX\G® | QA aB| R [ RA| RB | RC | s | SA | sB | sC
o[ | ° = | = & 5A110M5 | 27 [185] 3.3 | 30 | 17 | 13 | 33| 14 | 25 | 95
A < RNi 5A11006 | 28 | 18 | 33 | 30 | 17 | 13 | 33 | 14 | 25 | 9.5
ST @ " O o 5A21006 | 36 | 18 | 33| 38 | 17 | 17 | 43| 20 | 26 | 105
o ! < 1 5A21008 | 36 | 18 | 33 | 38 | 17 | 17 | 43 | 20 | 26 | 105
R‘C s i oD 5A31008 | 45 | 24 | 43 | 50 | 21.6| 20 | 43 | 24 | 345|135
c . re 5A31010 | 45 | 24 | 43 | 50 | 21.5| 20 | 43 | 24 | 345|135
5A41016 | 63 | 30 | 43 | 72 |255| 27 | 55 | 28 | 47.56| 17.5
5A[]20[]
2o PT1/8 BR\E® | A[ B C p [pPa[pPB| PCc [PD] @
5A120M5 | 78 | 27 | 18 |MbX0.8) 39 | 14 | 32 | 0 |M5X0.8
T 7 T 5A12006 | 78 | 27 | 18 | PT1/8 | 39 [ 16| 31 | 3 | PT1/8
L 2=a o oles = |, or  5A22006 | 90 | 35 | 22 | PT1/8 | 45 | 18| 36 | 0 | PT1/8
A sp : 1 y 5A22008 | 90 | 35 | 22 | PT1/4 | 45 | 21 | 34.5| 3 | PT1/8
IR a 1 / ﬁ\f_ 5A32008 | 111 | 40 | 27 | PT1/4 |65.5| 22 | 445| 0 | PT1/4
! ;/ & s 5A32010 | 111 | 40 | 27 | PT3/8 | 65.5] 24 [ 43.56] 4 | PT1/4
S <3 o | < < | © 5A42015 | 142 | 50 | 34 | PT1/2 | 71 | 36| 63 | 4 | PT1/2
- Y \ BX\F% | A B[ R [ RA[ RB| RC| s [ sA| sB | sc
9« o ) ] o 5A120M5 | 27 [ 255| 33 | 30 | 24 | 13 [ 33| 14 | 32 | 95
@ | o @ | a 5A12006 | 28 | 25 | 3.3 | 30 | 24 | 13 | 33| 14 | 32 [ 95
M M an 5A22006 | 36 | 27 | 3.3 | 38 | 26 | 17 | 43| 20 | 35 | 10.5
RC s IS 5A22008 | 36 | 27 | 3.3 | 38 | 26 | 17 | 43| 20 | 35 | 10.5
c == e 5A32008 | 45 | 33 | 4.3 | 50 | 30.5| 20 | 43 | 24 | 435|135
B 5A32010 | 45 | 33 | 4.3 | 50 | 30.56| 20 | 4.3 | 24 |43.5| 13,5
5A42015 | 63 | 395| 43 | 72 | 35 | 27 | 65 | 28 | 57 | 175
5A[]30C(E\P)[]
2-PT1/8
| |
-0 \ BXE® | A [ B[ C P PA [ PB| PC [PD] a
Wi ! 2-0S || 2=0F 5A13000M5 | 91 | 27 | 18 |[M5X0.8] 52 | 14 | 45 | 0 |[M5X0.8
o | R / — 5A1300106 | 91 | 27 | 18| PT1/8 | 52 [ 16| 44 | 3| PTI/8
& 7N 5A230(106 | 109 | 35 | 22 | PT1/8 | 64 | 18| 55 | 0| PT1/8
g&( A4 p =/ 5A230008 | 109 | 35 [ 22 | PT1/4 | 64 | 21 [635] 3| PT1/8
) 57 o | 3 202 5A3300108 | 130 | 40 | 27 | PT1/4 | 745 | 22 | 63.5| 0| PT1/4
! D =i 5A3300110 | 130 | 40 | 27 | PT3/8 | 74.5| 24 | 62.5] 4 | PT1/4
@@ | =l 5A4300015 | 163 | 650 | 34 | PT1/2 | 92 | 36| 74 | 4| PT1/2
o ‘ & ‘ = . ‘ O BK\FFH® |QA| QB | R | RA| RB | RC| S | SA | SB | SC
o | « : 5A13000M5 | 27 | 385| 33| 30 | 37 | 13 | 33| 14 | 45 | 95
| 5A130(106 | 28 | 38 | 33| 30 | 37 | 13 | 33| 14 | 45 | 95
i % F‘ 5A230[106 | 36 | 46 | 3.3 | 38 | 45 | 17 | 43| 20 | 54 | 10.5
RC "\sc 1T TpD 5A2300108 | 36 | 46 | 3.3 | 38 | 45 | 17 | 43| 20 | 54 [ 105
c o RG 5A3300108 | 45 | 52 | 43 | 50 | 495| 20 | 43 | 24 | 625|135
5A330(110 | 45 | 652 | 43 | 50 | 49.5| 20 | 43 | 24 | 625|135
5A4300016 | 63 | 60.5| 43 | 72 | 56 | 27 | 55| 28 | 78 | 175

A 106



	页 1
	页 2
	页 3

